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-600 -600 -600
0 2 4 6 8 10 12 0 2 4 6 8 10 12 0 2 4 6 8 10 12
200 ‘XO—YOI 200 ‘Xl—YOI 200 1X2-Y0
E 0 \ t 0 ~ 0 —~
~200 \ -200 \ -200 \
-400 | -400 -400
-600 -600 -600
0 2 4 6 8 10 12 0 2 4 6 8 10 12 0 2 4 6 8 10 12

Time (sec)

Time (sec)

“
'
'
'
'
2
i
'
'
'

2.60sec.
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(tf) (m)
1F 2F 1F 2F 1F 160 X o
075 150 075 040 080 040 6.55 655 393 393 2F 160 Y o
075 150 0.75 040 080 040 510 1019 510 306 612 306 Z o
6.55  6.55 393 393 |h=005 |

600 X0-Y1] 600 X1-Y1] 600 x2-Y1]

E 400 400 400
= 200 200 f 200
0 t t 0 Jﬁ/: t 0
-200 -200 -200
0 2 4 6 8 10 12 0 2 4 6 8 10 12 0 2 4 6 8 10 12
600 X0-YO] 600 X1-Y0 600 X2-Y0
— \ \
£ 400 400 400 |
~ 200 f 200 | 4 200
0 Jﬁ/: — 0 /, 0
-200 -200 -200
0 2 4 6 8 10 12 0 2 4 6 8 10 12 0 2 4 6 8 10 12
Time (sec) Time (sec) Time (sec)

50 X0-v1] 50 X1-v1] 50 X2-Y1

E 0 —A— +— 0 —A : 0 —
e N 0 | i N
-100 \or -100 | N -100 | g
-150 -150 -150
0 2 4 6 8 10 12 0 2 4 6 8 10 12 0 2 4 6 8 10 12
50 XO—YOI 50 ‘Xl—YOI 50 X2-Y0
€ 0 ~A— ¥ 0 f 0 A :
8/—50 \ -50 \ -50 \
\ s P e il
\—— W—c o
-100 -100 -100
-150 -150 -150
0 2 4 6 8 10 12 0 2 4 6 8 10 12 0 ) 8 10 12
Time (sec) Time (sec) Time (sec)
200 X0-Y1] 200 X1-Y1] 200 X2-Y1
T 0 } } } } 0 } } } } 0 } } } }
O
T -200 | \ -200 | \ -200 ‘\
-400 -400 -400
-600 -600 -600
0 2 4 6 8 10 12 0 2 4 6 8 10 12 0O 2 4 6 8 10 12
200 X0-Y0| 200 X1-Y0| 200 X2-Y0
5 0 } 0 < } 0 ~
~200 | \ 200 | \ -200 \
-400 -400 -400
-600 -600 -600
0 2 4 6 8 10 12 0 2 4 6 8 10 12 0 2 4 6 8 10 12
Time (sec) Time (sec) Time (sec)

2.60sec. 3.60sec. 4.60sec.
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(tf) (m)
1F 2F 1F 2F 1F 160 X o
075 150 075 040 080 040 983 9383 3.93 2F 160 Y o
075 150 075 040 080  0.40 510 1019 510 306 612 3.06 Z o
3.28 328 3.93 |h=005 |
_ 600 X0-Y1 600 X1-Y1 600 ‘X2—Y1I
g 400 400 400
~ 200 = 200 = 200 e
0 St 0 ﬁ-/ — 0
-200 -200 -200 D
0 2 4 6 8 10 12 2 4 6 8 10 12 4 6 8 10 12
600 X0-Y0|] 600 /,_ﬁx1-Y0| 600 —x2-Y0|
E 400 v 400 . 400 d
= 200 N 200 / T 200 / N
0 +;—Q!;(, — 0 0 -
-200 -200 -200
0 2 4 6 8 10 12 2 4 6 8 10 12 4 6 8 10 12
Time (sec) Time (sec) Time (sec)
. 200 X0-Y1 200 X1-Y1 200 ‘XZ—Yll
E 0 n——+—— 0 ~ T 0 —~
= -200 \C — -200 \ — A -200
-400 \ -400 A -400 \A
-600 -600 -600
0 2 4 6 8 10 12 2 4 6 8 10 12 4 6 8 10 12
600 X0-YO] 600 X1-Y0| 600 X2-Y0]
—~ 400 400 400
§ 200 = 200 = 200
0 ~ } 0 -+ }
-200 \_,) -200 \V—’) -200 L
-400 -400 -400
-600 -600 -600
0 .6 8 10 12 0 4 6 8 10 12 0 4 6 8 10 12
Time (sec) Time (sec) Time (sec)
200 X0-Y1] 200 X1-Y1} 200 ‘XZ—Yll
E 0 } } } } 0 } 4 } } 0 | }
o
=200 | -200 \ -200 \\
-400 \ -400 \\ -400 \L
-600 -600 -600
0 2 4 6 8 10 12 2 4 6 8 10 12 0 4 6 8 10 12
25‘208 X0-Y0| 200 X1-Y0] 200 X2-Y0]
4 } } } 0 } 4 } } 0 } } }
O
=200 | -200 \ -200
-400 | -400 \ -400 \
-600 -600 -600
0 2 4 6 8 10 12 0 4 6 8 10 12 0 4 8 10 12
Time (sec) Time (sec) Time (sec)
: )

3.70sec.
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4.60sec.
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(tf) (m)
1F 2F 1F 2F 1F 160 X o
075 150 075 040 080 040 655 655 393 393 2F 160 Y o
075 150 0.75 040 080  0.40 146 10.19 874 306 612 306 Z o
6.55  6.55 393 393 |h="0.05 |
600 X0-Y1] 600 X1-Y1] 600 X2-Y1
E 400 400 400
=200 | N—T"] 200 """ 200
SN\
0 0 /( 0 /] T\
-200 -200 -200
0 2 4 6 8 10 12 0 2 4 6 8 10 12 0 2 4 6 8 10 12
E‘6OO ___N\JXO—YOIGOO Xl—YOIGOO /sz-Yo
5 400 | ’;’/ ~ 400 | f 400 #\‘ \
200 I P /]
P 200 7 200 =
_208 0 f—t—i BN 0 P W
0 2 4 6 8 10 127200 0 4 6 8 10 1 2-200
Time (sec) Time (sec) 0 2 4‘I'imee(secj8 1012
100 X0-Y1] 100 X1-Y1] 400 X2-Y1
= 0 ~A\ } T 0 } 200
5-100 AC -100 Ny 0 v
W\ R X
~400 WV ~400 -400 N
-500 -500 -600
0 2 4 6 8 10 12 0O 2 4 6 8 10 12 0 2 4 6 8 10 12
200 {X0-YO} 200 ‘Xl—YOI 400 X2-Y0
£ 100 100 200 —
-100 \\j,\;y AN 200 | \VAERRN -200 U
-200 \ S~ -300 = -400 /
-300 -400 -600
0 2 4 6 10 12 0 4 6 8 10 12 0 4 6 8 10 12
Time (sec) Time (sec) Time (sec)
200 X0-Y1] 200 {X1-Y1} 200 X2-Y1
E o0 i — 0 : 0 — ]
= -200 \ -200 -200
-400 -400 \ -400 \”\ﬁ
-600 -600 -600
0 2 4 6 8 10 12 0 2 4 6 8 10 12 o 2 4 6 8 10 12
200 XO—YOI 200 ‘Xl—YOI 200 ‘X2—YOI
E 0 — i 0 0
~-200 Y\.- -200 L -200
-400 400 -400 \
"N
-600 \/‘ -600 \j\ -600 \L/\
0 2 4 6 8 10 12 0 2 4 6 8 10 12 0 2 4 6 8 10 12
Time (sec) Time (sec) Time (sec)

O--=53===-0

3.70sec.
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4.60sec.
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d)

)
)
3.4.5
22
1,2 m,m 3.138t, 2.282t
1,7 4
1 2
1,2 2
c)
(950kN/cm?)
2 (470kN/rad)
23 ® ?
5 10 -
No.1,3,4 2,3
A E 1 1 1,7 4 1 2
[C.] 0.02

1/300sec
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2 ( No.1,3)
No.1 No.3
1 2 1 2 1 2 1 2
X X X Y Y X X X Y Y
o} 0.40 | 0.80 | 0.50 | 0.50 | 0.50 | 0.40 | 0.50 | 0.50 | 0.50 | 0.50
B 0.45 | 0.20 | 0.60 | 0.60 | 0.50 | 0.40 | 0.40 | 0.60 | 0.60 | 0.50
y 0.30 | 0.30 | 0.40 | 0.50 | 0.50 | 0.30 | 0.30 | 0.40 | 0.50 | 0.50
€ 0.70 | 0.70 | 0.30 | 0.60 | 0.60 | 0.70 | 0.70 | 0.30 | 0.60 | 0.60
4 1.80 | 1.20 | 1.10 | 1.04 | 1.04 | 1.60 | 1.20 | 1.10 | 1.04 | 1.04
p(tfF) | 1.50 | 1.50 | 0.86 | 0.71 | 0.47 | 1.20 | 1.80 | 0.86 | 0.71 | 0.47
p(tf) | 2.00 | 2.50 | 1.20 | 1.21 | 0.93 | 1.80 | 2.20 | 1.20 | 1.21 | 0.93
p(tf) | 2.65 | 2.00 | 1.20 | 1.50 | 1.30 | 2.00 | 2.00 | 1.20 | 1.50 | 1.30
P (tF) 0 0 0 0 0 0 0 0 0 0
p(tf) | 0.10 | 0.10 | 0.10 | 0.30 | 0.30 | 0.10 | 0.10 | 0.10 | 0.30 | 0.30
0 4.75 | 5.64 | 2.00 | 1.28 | 0.83 | 3.80 | 6.77 | 2.00 | 1.28 | 0.83
1(cm)
0 25 20 8.30 | 5.58 | 4.92 25 20 8.30 | 5.58 | 4.92
.(cm)
0 175 50 50 10 10 150 50 25 10 10
s(cm)
0 225 220 150 60 30 200 200 100 60 30
s(cm)
( No.4)
No.4
1 2
X X X X Y Y
a 0.70 | 0.40 | 0.30 | 0.60 | 0.50 | 0.50
B 0.35 | 0.40 | 0.70 | 0.40 | 0.60 | 0.50
Y 0.30 | 0.30 | 0.60 | 0.30 | 0.50 | 0.50
€ 0.70 | 0.70 | 0.30 | 0.70 | 0.60 | 0.60
C 1.20 | 1.30 | 1.10 | 1.40 | 1.04 | 1.04
p(tf) | 0.80 | 1.50 | 1.00 | 0.90 | 0.71 | 0.47
p(tf) | 2.00 | 2.20 | 1.20 | 1.30 | 1.21 | 0.93
p(tf) | 2.10 | 2.20 | 1.20 | 1.60 | 1.50 | 1.30
P (tF) 0 0 0 0 0 0
p,(tf) | 0.10 | 0.10 | 0.10 | 0.10 | 0.30 | 0.30
0 2.53 | 5.64 | 2.33 | 2.09 | 1.28 | 0.83
1(cm)
0 50 20 50 15 5.58 | 4.92
.(cm)
0 150 50 70 35 10 10
s(cm)
0 200 200 100 200 60 30
s(cm)

-539-




24

25

[K]

24
dzix fzi dyi1 fyi
k] 12 Fyi, My T
24 J
25
[K]
n
XYZ Di, Fi XYZ
Ri, M; | J
3 ddKijs arKijs 1dKijs rrKjj
B P i ; o \
CELSERNL ST REL SR STRY RCLS TN TLS T D,
oKy oKy § oK oK P RCLSTINNNTL ST I . Ri
EEL TR CY I CYR O R i daKan  arKan D2
Ko oK b Ko oKpp i LKoo eKan | { Rop
ddKnl drKnl E ddKnZ drKnZ : : ddKnn drKnn Dn
rdKnl rrKnl : rdan rrKnZ : : rdKnn rrKnn \ Rn )
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T 4aK1n |
K K Kon
[K,]=| @Kz aoke adK2 [K,]=
| ddKnz  aaKnz dadKnn_|
_rdKZl rdK22 rdKZn_
[K.]= raKar  1aKaz rdKan K ]=
rdd ™ {3
_rdel rdeZ rden_
Fi M, D,
(S BRI SN V) S R S0 S
Fn Mm Dn
{F} =[Ku]{D}+[K4 ] -{R}
{M}:[Krd]{D}+[Krr]{R}
2 m
(25)
{R =[K,]"[K,]-{D}
(24) {R
{F} = ([Kg@]-[K4][K, 1" [K4]){D}
3.4.2)
26 28 No.l, 3, 4
No.1, 3
X
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arK12

drK22
_drKnZ

rrK22

rrK32

_rerZ

{R =

No.4

5,9

arKis

drK23

drKn3

rrK23

rrK33

rerS

No.1

drKlm

drKZm
drKnm_

rrK2m

rrKBm

> (23)

(24)
(25)
{M}=0

(26)

(27)

No.3,4

No.4 20cm



1.00
1.00

1F
2F

0.02

|h

2F

1F

1/4

1/4

1/4

1/4

172 1/4

1/4

172 1/4

1/4

1/4

1/4

1/4

1/4
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2F

1F

0.29
0.29

0.57

0.57

0.29
0.29

0.39
0.39

0.78

0.78

0.39
0.39
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8

18 20
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6

Time (sec)

300

10 12 14 16 18 20
Time (sec)
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6

Time (sec)
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8

6
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Time (sec)

Time (sec)

15.30sec.

15.00sec.

14.00sec.
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1.00
1.00
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0.02

|h
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1F

1/4
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1/4
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1F
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(d)

1)

3.4.5

2)

3.4.5

3)

1.5m

4)
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3.4.5
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